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QUESTION 1

You need to integrate Fusion Accounting Hub with external source systems used for Billing. 

Identity the step that is not correct when implementing this integration. 

A. Analyze external system transactions. 

B. Capture accounting events. 

C. Determine the accounting impact of transactions. 

D. Create the accounting in the source system and then import the journal entries into subledger accounting. 

Correct Answer: D 

 

QUESTION 2

Which two General Ledger work would you assign to all your entry-level General Ledger accountants? 

A. Journals Work Area 

B. Period Close Work Area 

C. Financial Reporting Center 

D. General Accounting Dashboard 

Correct Answer: AD 

 

QUESTION 3

The Accounting Manager requests that a schedule be created to automatically post journals from subledgers at different
times. 

Which journal attribute should you use to set the automatic posting criteria? 

A. Journal Category 

B. Journal Source 

C. Journal Batch 

D. Journal Description 

Correct Answer: C 

 

QUESTION 4
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Your customer is having issues transferring intercompany transactions to General Ledger.. 

Identify three reasons for this. 

A. The intercompany transaction is not approved. 

B. The corresponding Payables and Receivablesinvoicehave not been generated. 

C. If they are different, then the exchange rate is missing between the intercompany and ledger currency. 

D. The intercompany period is closed. 

E. Both the intercompany and general ledger periods are open. 

Correct Answer: BCE 

 

QUESTION 5

Your new accountants have been making mistakes in reconciling accounts assigned to them. 

Yourbalances have either spiked or dropped 30-40% every period due to human error. This causes delays 

in reconciliation. 

What feature can you use to be proactively notified of account anomalies in a more timelymanner? 

A. Smart View 

B. Financial Reports with Embedded charts 

C. Account Monitor 

D. Account Inspector and its charts 

Correct Answer: C 
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